2025 ERER RIS XU

<BF>

100m
1 11714(-1.9) FEE 2 ki X 255.3 =YiR
2 11721(-0.6) AARBR 2 BEMR 25.4.19 =YiR
3 11727(=0.7) K5k 2 ki X 255.3 =YiR
4 11772(-1.3) HHE 2 BEMR 25.4.19 =YiR
5 11781(-0.5) HHXE 2 BEMR 25.4.19 =YiR
6 11785(-0.1) EBiE 2 BEEHR 25.4.6 =YiR
7 11787(-2.4) BEFT KA 2 BETR 25.4.19 =ViR
8 11789(-0.5) BARIEE 2 BETR 25.4.19 =ViR
8 11789(-0.3) REFF3L 1 BETR 25.4.19 =ViR
10 11796(-0.8) EBE 3 BiHs 25.4.6 =ViR
11 11797(-1.0) PN 2 BiHs 25.4.6 =ViR
12 12724(-2.1) =418 A 2 BiHs 25.4.6 =ViR
13 12”25(-1.1) TEEN LA 3 BEEHR 25.4.6 =YiR
14 12727(-1.7) hiERS 1 BETR 25.4.19 =ViR
15 12742(-0.8) g3 2 BiHs 25.4.6 =ViR

200m
1 22768(-2.2) FEE 2 ik X 25.5.4 =ViR
- | 22"87(+2.5)w BAARTR 2 EEMR 25.4.13 =YiR
2 22797(-0.1) KRG 2 fadAHh X 25.5.4 =YiR
3 23707(-1.8) BAARBR 2 R X 2554 =YiR
4 23771(-0.4) baFT R A 2 EEMR 25.4.13 =YiR
5 23778(-1.0) HHE 2 WEMR 25.4.13 =YiR
6 24”06(+0.5) BHARIZE 2 EEMR 25.4.13 =ViR
7 24709(+0.8) PN 2 ETR 254.13 =YiR
8 24736(+0.6) TEE LA 3 BETR 25.4.13 =YiR
9 24738(+3.2) HHKXE 2 BEMR 25.4.13 =YiR

400m
1 52”44 R HEAN 2 ik X 2553 =YiR
2 52746 REAT R AT 2 A X 25.5.3 =YiR
3 53772 BRIEE 2 A Hh X 25.5.3 =YiR
4 53790 EHXE 2 BEMR 25.4.20 =ViR
5 55709 TEER R4 3 BETR 25.4.20 =YiR




800m

1 1’59763 K ARIE 3L 3 Bk X 25.5.4 =viR
2 208”09 L — 2 ik X 25.5.4 =viR
3 2'09”20 G 2 Bk X 25.5.4 =viR
1500m
1 407721 BHFHEA 3 iR X 255.3 =R
2 411703 E S 2 BERiRE 2545 =YiR
3 411776 AR 5 3 BiiH= 25.4.5 =YiR
4 412721 EXREE 3 BilH= 2545 =ViR
5 413791 R 3 Biii= 25.4.5 =YiR
6 414703 A2 AR 2 BilHR= 2545 =ViR
7 415”49 = HiEFE 3 BiiH= 25.4.5 =YiR
8 416”85 DEsL 2 BilH= 2545 =ViR
9 417”21 AUy BEARIAL Y 3 RS 2545 =YiR
10 417773 kg 3 BiiHR= 2545 =ViR
11 418742 ZNES 3 Biii= 25.4.5 =YiR
12 419725 EG{= 3 BilH= 2545 =ViR
13 422”91 ) 2 Biii= 25.4.5 =YiR
14 423758 I — 2 BiiH= 2545 =ViR
15 424”90 HhEBE 5 JTi 2 Biii= 25.4.5 =YiR
16 425”70 X B4t 2 Biifk= 2545 =YiR
17 426”17 REEED 3 Biiik= 2545 =YiR
18 439722 JED R R 1 REXEES 25.4.20 RiEX
19 442”97 THRZE 1 E XN 25.4.20 EFWN
20 447739 FERIEED 1 REXEES 25.4.20 RiEX
3000m
1 908”75 AUy BEARIAG Y 3 E XN 25.4.20 BiEK
2 9’35707 51555 1 REXEES 25.4.20 RiEX
3 10°03”51 REEED 3 E XN - 25.4.20 EFWN
5000m
1 15'35”01 BHEFA 3 Biifks 25.4.12 il
2 1546”97 tafEAER 2 R X 25.5.4 =viR
3 1547762 AU BEARIAY Y 3 ik 25.4.12 il
4 15’5226 = HiRTF 3 R X 25.5.4 =viR
5 16'06”89 E R 2 BELERS 25.4.12 At
6 16'12764 _EsL 2 Biixs 25.4.12 Al
7 16'26”88 o) 2 Bk 25.4.12 il
8 16'30735 KEr 2 Biiks 25.4.12 Al
9 16’3529 EAREPE 3 ik 25.4.12 il
10 16'35795 EIUFE— 2 Biiks 25.4.12 Al
11 16'44”03 EE{= 3 Bk 25.4.12 Ll
12 16'47704 REEED 3 Biiks 25.4.12 Al




1 15776(+0.1) BT 2 Bk X 2553 =YiR
JH| 15793(-0.8) BERRTT 2 BEiHE 25.4.12 Bl
2 16701(-2.1) =453 A 2 Bk X 255.3 =YiR
400mH
1 56”47 EAG 3 BEMR 25.4.19 =R
2 58”06 BT 2 BEMR 25.4.19 =YiR
3000mSC
1 9'56"03 Uy BEARIAG Y 3 ki X 255.3 =viR
2 1021”59 - 2 KX 25.5.3 =viR
3 1035763 KEF 2 ik X 25.5.3 =viR
400mR
1 42”61 FAR2)- Ki52)-1F52)- KE1) iR X 25.5.3 =YiR
2 43”31 FEAR2) Ki52)-1¥52)- FFH2) BETR 25.4.13 =YiR
3 44”07 FEH2)-BHAR2)-§EF2)-FZFFH2) Biii= 25.4.5 =YiR
4 44726 B182)- K152)- % 83)- BEik2) B 2545 =YiR
5 44786 JEERS)- $5K2)-YE2)- HH2) RS 25.4.5 =YiR
6 45”90 JEERS)-JE2)- #R2)- HH2) BETR 25.4.13 =ViR
1600mR
1 323780 HEA3)-AH2)-EERS) - JE2) BETR 25.4.20 =YiR
2 327”34 YE2)-EEik2)- X 52)- hEFT2) BETR 25419 =YiR
3 329712 JE2)- 5 3)-EEHR2)- hEFT2) R X 2554 =YiR
4 331761 A 3)-IER2)- Ki52)-5452) Bz 25.4.6 =YiR
5 334766 $AR2)- HH2)-EER3) - Ki52) WEMR 25.4.19 =YiR
6 336722 AH2)-¥E2)- EER3) - $5A2) Bk 25.4.6 =ViR
7 342”57 FH2)-5EF2)-FEAR2)-)1142) Bilik= 25.4.6 =YiR
E = Bk
1 1m75 )% 58 2 EEMR 25.4.29 =YiR
2 1m70 RIRBEE 3 R X 2553 =YiR
& Bk
1 5m97(+1.0) | hiE %A [ 1 wiAmE | 2553 | =wiR




<&ZF>

100m
1 12704(=%0) HEV)TL 3 ik X 255.3 =R
2 12749(-1.0) R BB 1 JE, 2 BEMR 25.4.19 =YiR
3 12”57(-1.0) Z B 2 BEMR 25.4.19 =YiR
4 13720(-1.2) BEARNBE 3 BEoixs 2545 =YiR
5 13726(-0.6) EEHTS 3 RS 2545 =YiR
6 13752(+2.0) AHHE 2 BEMR 25.4.19 =YiR
7 13783(-1.7) RIS 3 BiiH= 25.4.5 =YiR
8 14714(-1.7) aetllE 1 BEMR 25.4.19 =R
200m
24780(-0.8) HETITL3) 3 Bk 2554 =YiR
- | 26713(-2.3)w B 1 5 J 2 HEEMR 25.4.13 =YiR
2 26714(-1.4) BT &0 1 JE 2 ik X 2554 =YiR
- | 26”51(+2.1)w 8K 2 BEHMR 25.4.13 =YiR
3 27705(+1.2) BTEHOEHM 2 BETR 25.4.13 =YiR
4 27706(+1.0) EEHTS 3 BEMR 25.4.13 =ViR
5 27727(-0.6) BARNBE 3 BETR 25.4.13 =ViR
6 27746(+1.0) BEER 3 BEMR 25.4.13 =ViR
7 28714(+1.2) RIEILiHH 3 BETR 25.4.13 =YiR
8 29”25(+1.0) ARHE 2 WEMR 25.4.13 =YiR
400m
1 100”84 BIEADE M 2 FadAHh X 25.5.3 =YiR
2 1'03795 YD th 0 1 R X 2553 =YiR




800m

1 2'22"77 1Ly 58 35 3 Bk X 2554 =viR
2 224”77 EtkRiE 1 ik X 25.5.4 =viR
3 2'27"55 B E KK 1 Bk X 25.5.4 =viR
1500m
1 441748 FEF RS 3 ki X 25.5.3 =viR
2 452”59 = H— 3 REXEHES 25.4.20 PN
3 457727 LIy %8 32 3 IR X 25.5.3 =viR
4 511743 R &R 2 BilH= 25.4.13 Ll
5 512714 FFERE 1 BEREHEE 25.4.20 BiEX
6 514704 EtaE 1 REKGEHZER 25.4.20 RiEX
7 525”23 P AR -3 1 PN - 25.4.20 BB
8 527”21 KHEFR 1 REXEHES 25.4.20 RiEX
9 528”90 i HIKTE 1 BEREHEE 25.4.20 BiEX
10 609715 {RERZE 1 REKGEHZER 25.4.20 RiEX
3000m
1 10°00”45 AEFE 3 KX 255.3 =YiR
2 1032742 = H— 3 ik X 25.5.3 =YR
3 1043”26 BRER 2 KX 255.3 =YiR
4 1116”33 SiEER 3 REiRE 25.4.6 =YiR
100mH
1] 15741(-22) | BBER E R X 255.3 = ViR
400mH
1 106”55 BIEHOEH 2 ETR 25.4.19 =YiR
2 107776 BIEEK 3 HEMR 25.4.19 =YiR
400mR
1 47773 B3 HEI)-[E2)-E B3) IR X 25.5.3 =YiR
2 48”11 BAN3)-HEI)-FE2)-{Z482) HEEMR 25.4.13 =YiR
3 49”50 AN H2)-RIEH2)-fER2)-{ZA2) REiRE 2545 =YiR
4 50”38 EN3)- = E3)- BiE3)- KE3) Bz 2545 =YiR
1600mR
1 356768 {Z52)-fTER2)- FN3)- #E3) BETR 25.4.20 =YiR
2 403712 ATEH2)-EHN3)-51583)- = &3) ki X 25.5.4 =YiR
3 405717 HiE3)-EWN3)- = B3)- ¥ 5E3) =S 25.4.6 =viR
4 407722 BERN3)-HEI)-FE3) KIF3) HEMR 25.4.19 =YiR
5 420”70 BTH2)- FIER2)- AH2)- HE52) Biixs 25.4.6 =ViR
£k
1 1m54 EEHTS 3 BETR 25.4.20 =YiR
2 1m40 BTAOEM 1 R X 25.5.4 =YiR
& Bk
1 5m14(+0.7) BEANBE 3 BEMR 25.4.19 =YiR
2 5m01(+0.3) PN 2 ik X 25.5.3 =YiR
- 4m89(+2.H)w ARHE 2 Biiks 25.4.6 =YiR




